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[Accounting for Managerial Decision]
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Note : Part A and B of each question in each unit consist
of very short answer type questions which are to
be answered in one or two sentences. Part C (Short
answer type) of each question will be answered
200-250 words. Part D (Long answer type) of each
question should be answered within the word limit
400-450.

Unit-1

o

1. (A) JEYSE @Ay & g o HE Jast| 2

P.T.O.
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Describe any two functions of Management

Accounting.
(B) faxita faveiwor & @ e §7? 2

What is meant by Financial Analysis ?

(C) TIUHI @ik i Fehid SRy | 4

What is the nature of Management Accounting ?

AT
Or

(a) o

qar e faxita foemar &= ©72

What is Comparative financial statement ?

[a ¥

(D) YaHHE @i <y oensd 9 fhe g&R
fi §2 12

How does Management Accounting differs from

Financial Accounting ?

AT
Or

frfafea sifwgl | qerHs ey &1 faaxo
TR HifsT—
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Explain briefly the variance used in standard

costing.

AT
Or

frfafea s & ToMT Sifsiu—

(1) Tt erTa foe=r,

(2) Rl qe o=,

(3) Qi A fom,

(4) FmEit fagror foer |

el

(31) 60 3hTE T X 2 Ul 3hTE

(9) 40 3T X I 3 Hid 3T

EUSIEED

(37) 80 gohTE T X 3 id 3ohTe

(9) 40 318 X T 5 9fd THE
JHIYA el SR8 = 100 ThTS

Ik Hel 3hTE = 120 3hTE
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From the following data calculate :

(1) Material Cost Vatiance,

(2) Material Price Variance,

(3) Material Usage Variance,

(4) Material Mix Variance.

Standard

(A) 60 unit @ X 2 per unit

(B) 40 unit @ X 3 per unit

Actual

(A) 80 unit @ X 3 per unit

(B) 40 unit @ X 5 per unit
Standard total unit = 100 unit

Actual total unit = 120 unit

AAAAAN AAAAA

[ 14 ] 14/150



2. (A)

(B)
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forero 31.03.2019 31.03.2020
fornt % 6,00,000 ¥ 8,00,000
Hehel oY SNEIR 30% 40%
PRI ED DD 40,000 ¥ 1,00,000
STTIHT 50% 50%

From the following data prepare a statement of

profits in the comparative form :

Particular 31.03.2019 31.03.2020
Sales % 6,00,000 X 8,00,000
Gross Profit ratio 30% 40%
Administrative < 40,000 X 1,00,000
expense
Income tax 50% 50%
gTE-11
Unit-1I
e ST W ¥ 2 2

What is turnover ratio ?
siroa agett stafy s 72 2
What is averege collection period ?

[ 31 P.T.O.

©)

(D)
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EISEEREIN Td WA 3T i 30 Gfed

HHLARU | 4
Explain current ratio and liquid ratio with
examples.

AT

Or

Y fa. 1 @ 39U 2 ;1 %, 9 sUH why
% 20,000 T /& =M A T 50,000 T,

Sqeh] T STIUId H1d hifT |

Y Ltd. has a liquid ratio 2 : 1. If its stock is
% 20,000 and its total current liabilities are
T 50,000, find out its current ratio.

ST fagersor 3/ § 7 STdIa fowersor & ==
3eRd SR HE §? 12

What is ratio analysis ? What are the objects

and limitations of ratio analysis ?

3gaT
Or

=1 geedi § 31 916, 2020 F TH A
amfeder feaear sMRT—
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Tax Provision 15,000 17,500

Total 2,65,250 2,55,400

Non-current Assets

Land and Building 1,00,000 95,000
Plant 75,000 84,500
Goodwill — 2,500

Current Assets

Stock 50,000 37,000
Trade receivable 40,000 32,100
Cash in hand 250 300
Cash at bank — 4,000
Total 2,65,250 2,55,400

Additional Information :

(i) Dividend of X 11,000 was paid during the
year 2019-20.

(i1) Plant Depreciation was X 7,000.

(ii1) Tax Provision was X 16,500 during the year
2019-20.

[ 11 ] P.T.O.

4. (A)

(B)

(©)

(D)
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FHE-IV

Unit-1V
It e T O & faT eE-w 93 whn
ERIBSIEI-¥ 2

Which formula is used for calculating material
mix variance ?

90 YT oo ¥ 2 2
What is labour efficiency variance ?

T 3cafa | fomror = § 2 4

What is material yield variance ?

AT
Or

=1 gereti 9 9t fo=el &t 7o S,
AT A 10 TR, gAY god X 2 gid ok,
aT&dfeeh A 12 fordn, am&ifass qed T 1.90

gfd . |

SQ = 10 kg, SP =X 2 per kg, AQ = 12 kg,

AP =% 1.90 per kg. Calculate material variances

from the above information.

TuY uiema ° wa ford s 9t fafs= faemon

& Y9 H THSRU | 12
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@Y e 6
feeR gufv amad ST 4
St eTmed ST 2
ehel e ST 20%
SRl Al Y 2 T8
TR A 3Taty 73 feA

Thal a1y T 60,000 o, A Thy YRt
Y 9 T 5,000 2AE o1 9= T AfdE Bl
qfer T 20,000 |

From the following information prepare a
summarised Balance Sheet as at 31st March,

2020 :

Stock Velocity 6
Fixed assets turnover ratio 4
Capital turnover ratio 2
Gross Profit ratio 20%
Debt Collection Period 2 months
Creditors Payment Period 73 days

[ 5] P.T.O.

3. (A)

(B)

©)

(D)
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The Gross Profit was ¥ 60,000. Closing stock

was X 5,000 in excess of opening stock. Reserve

and surplus amounts was X 20,000.

gahRe-111

Unit-III

Y garg feer = &2 2
What is a fund flow statement ?

ek gare foexo = &2 2

What is cash flow statement ?

A Jare faeror & wE-H § §d €7 4
What are the sources of cash flow statement ?

AT
Or

TATE | IS I TN D HT S 7 ?
How fund from operation is calculated ?

frfafea o foeror ¥ sy @ yow
fafy & g1 af=meq forans®t @ Uk waE &t

O] hifsTE— 12
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25,000

15,250

35,000

75,000

15,000

2,65,250

1,00,000

75,000

50,000
40,000

250

2,65,250

30,000

15,300

67,600

17,500

2,55,400

95,000
84,500

2,500

37,000
32,100
300

4,000

2,55,400

P.T.O.

Code No. : B03/216

o e

SHldRed {dEl—

(i) % 2019-20 & TRA T 1,000 HT T

fean T

(i) ™ W gd T 7,000 |

(iif) T 2019-20 T X JEGH T 16,500 T |

From the data given below of Sheetal Ltd. prepare

a funds flow statement and schedule of Working

Capital changes :

Balance Sheet

Particular 2019
Equily and liabilities 3
Shareholders fund

Share Capital 1,00,000
General reserve 25,000
P& LA/ 15,250

Non Current Liabilities
Bank loan 35,000
Current Liabilities

Bills Payable 75,000

[ 10 ]

2020

1,25,000
30,000

15,300

67,600
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3T faeror

ferawor 3 faeawor 4
il wF 50,000 feRa (IHS) 1,05,000
TR PN 16,000 FHRE 2T 8,000
ST WSl 2,000 FHHEE WS 7,000
ELE| 15,000
e o 5,000
e & fasa 3,000

R BIH

IS AN 29,000

(Tgfea 31h)

I 1,20,000 =T 1,20,000

From the following income statement calculate
cash flow from operating activities by Indirect
and Direct Method :

Income Statement

Particular ¥ Particular £4
Material 50,000 Sales (cash) 1,05,000
Purchases

[ 7] P.T. O.
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Wages Paid 16,000 Commission 8,000

due

Outstanding 2,000 Commission 7,000

wages received
Salary 15,000
Outstanding 5,000

Salaries

Loss on sale 3,000

of plant

Net Profit 29,000

Balanced figure

Total 1,20,000 Total 1,20,000

3AAT
Or

et . < 370 ekl ¥ hIY Yarg faewor qen

FHrEiel Isit H IREc i ST TR ShifsTe—
Reafer feamor
faerur 2019 2020
e e B DI T 4
@I iy
3T gSht 1,00,000 1,25,000
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